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The printed price of an article is Rs. 900 but the retailer gets a

discount of 40%. He sells the article for Rs. 900, his gain percent is
Ueh I <hl 3-||ch<1 HeT 900 %. g H{d Uch Il SATART 3H UT 40% ohT 2T ITH

AT E | o8 SH 5. 900 T 2Iel 24T £, IHRT o1 TToTa £ ;
1.28.57% 2.33.33% 3.40% 4.66.66%
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A shopkeeper earns a profit of 10% after allowing a discount of 20%

on the marked price. What will be the cost price of the article whose
marked price is Rs. 880 ?

Ueh SehTHER Ueh T o 3ifehd Hod TX 20% hl P o oh o1 Wi 10% T ore
FHHTAT E | 36 JE <hl chd Hed 1 TATT TSTeem 3*II(<\>h<1 T %, 880 F 2

1.600 2.640 3.720 4.800
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Flnd the single discount equivalent to two successive discount of 10 % and
10%?

10 % 3T 10 % < 37 ShiHeh T2T AT Uk HeheAT AT fehd=T SHTT?

1) 17% 2) 19% (3) 20% (4)21%




What is the equivalent discount for the successive discount of 15

% and 16.66%?

[5 % TAT 16.66 %o o THiHk a2 oh THACH T2 FIT 5?2

1.22.22% 2.25% 3.29.66% 4.33.33%
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What is the equivalent discount for the successive discount of
25%,20% and 15%?

25%, 20% TAT 15% o Shith o3 o THIT g1 FT 82

1.45% 2.49% 3.5%% 4. 60%




What amount has to be paid for a clock of Rs.1200 after gettmg a

successive discount of 15% and 20%?
1200 F. 6T TS T 15% 3R 20% hT shiHeh T ITH I ok 13 foha=T &=TioT
ShT HITAT ShAT 2T 2

1.816 2.815 3.818 4.820
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A shopkeeper gives an additional discount of 5% after giving a discount of

20% when bill is paid in cash. If Rs.684 has been paid in cash for a toy, then
find the marked price of the toy.
Ush ZehTHER ehe W TeleT ohl YIATH shid THT 20% shl P2 & oh a18 5% ehl TdTh B

[
TR A v Uk AT ok TeT0 Tehs W 684 TUH R WITAT TohdT T ‘%’ I REATH hT 37TeRd
Hed ST ehiTeTd|

1.720 2.854 3.900 4.1000
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The marked price of a watch is Rs 720. A man bought the same for Rs.

550.80, after getting two successive discounts, the first discount is 10%.
What was the rate of second discount ?

Ueh TSl ohT 3iTchd Hod ©. 720 AT, Ueh HATGHT 3H U1 shl 31 SHATTA g WX %, 550.80 |
e 2, TS uged o121 10% 9T | S8 o <hl 2T o o 2

1.12% 2.15% 3.18% 4.20%




A shopkeeper purchased a chair marked at Rs. 800 at two successive discounts of 10%
and 15% respectively. He spent Rs. 28 on transportation and sold the chair for Rs. 800,
his gain percentis:

Ueh SehTHaR Uch Shufi TSTEeRT SiTehd Tod 800 & 31 ShHTTA g AT : 10% AR 15% TR
EHEAT E | 9 28 F. ATATETE UT T i § 2 39 E. 800 § S 24T 2 A7 SHeRT AT

Elﬁl’?ﬁ% X
1.16.66% 2.20% 3.22.5% 4. 25%




Two types of discount is Applied to a bill for Rs. 10,000, a discount of 40%
and two successive discount of 36% and 4%. Difference between both

discount is:
10,000 =T T 9T 21 e ok oI 12U 1 Hehd €, TS0 Teh T2T 40% & ST ZHT 36% qAT
4% ok Sh1Heh 12T g | 2191 a¥E o 92 H ferdT iR

1.144 2.250 3.288 4.200
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A man purchased a certain article for Rs. 205.20 after two successive discounts of 10%
and 5%.Find the marked price of that article?

Tk SATE 7 10% 3T 5% hT ST ShiWeh F2i o A1 Teh o] &UT 205.20 § @S 36 T 6l
TR Hedr T hifoTa?
(1) Rs.240 (2) Rs.250 3) Rs.210 (4) Rs.215

13




An article was sold for Rs. 512 after giving two equal successive dlscounts on

the marked price of Rs. 800. The percentage discount offered is

T ShTHeh B 3 h A1 800 TU ok ToITEd Hed Uk o 512 TUA | =T 7147 o7 |
TferoTd D€ -
A)10 B)6 C)9 D)8




shopkeeper purchased an old article marked at Rs. 5350 at two successive discounts of

10% and 20% .He spends Rs. 280 more on its maintenance and sold it for Rs.

4648.50.Find his overall Profit % in the deal?
T RSN A Tk YT o], Frent sifeha 96 5350 %. , 10% 3T 20% o 31 ShWTd D¢

R AT TR TETET § 280 T 3R T % TS 3A A1 TE] 4648.50 €T H =T

IHRT ATHT %, ATH AT hiT<Ta?
(1) 8.25%  (2) 10.75% (3) 6.5% (4) 15% (5) 12.5%

()
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Pankti sold an item for Rs.10080 after giving 20% discount on the labelled
price and made 18% profit on the cost price. What would have been her profit

percent if no discount was given?
Gi<h = Ueh o1& ekl SiTchd Hodl UT 20% <hl B o d18 10080 F. ThT al=il AT sha Hod UT

18% ThT CTTH UTH TohAT | IHHT SITH TTAITd AT ZIAT ATS hls DE 7 BT 2
1.32.4% 2.32% 3.47.5% 4. 24.5%
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A traders marks his goods such that he can make 32% profit after giving

12% discount. However a customer avalled 20% discount instead of 12%.

Whatis the new proflt percent of trader ?
Ueh SOTUTT 3709 HTHTA <hi sd TE T 3iTehd ohidT & hl 39 12% BT 2 ok ATE T 32% Rt

T EIdT 2| BTeTieh Uch ek 7 12% BT hl T 20% ‘qﬁ@?mﬁW‘z’ | SITATT Rl
TIT AT TTAITT T 22

1.20% 2.24% 3.25% 4.22% 5.22.5%




The ratio of cost price to the selling price of an articleis 5: 6. 1f 20%
discount is offered on marked price of the article then marked price is what

percent more than cost prlce"
TRET oI5 o ShY Hod AR Tolsha Hedl Rl AU 5: 6 8| qie % oh HAThd Hod WX 20%

ki F'°ru1|<1| 2 T 3ifehd e Td Jed I TeraT afaord 34'?%5‘5’?

1.20% 3.25% 4.40% 5.50%
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A man buy a watch at 10% discount, had he bought this watch at
a discount of 15% he would have saved Rs.50 more. Find the

marked price of the watch.
Uk S 10% B U Tk TSl THEAT 2, 36 37 "2 Rl 15% hT e W EHIET 2T a7 98
50 T 3T AT AT| TS RT 3iTohd Hedl [T kit

1.1000 2.1500 3.2000 4. 2500




A dealer purchased a washing machine for Rs. 6600. After allowing a

discount of 12% on its marked price, he still gains 10%. Find the marked
price of the washing machine.

o~ o

Teh 21?7 6600 TUT | Teh AT HITT ©HIET | 37Tehd e U 12% ohl ©€ hi 3TAHTd 24 oh T2, T2
| N c\ O
AT Wt 10% 19 ITH RIAT 21 ATV TIMA AT 2ifehd Tod ST RITA |

1.8000 2.8100 3. 8200 4.8250




Kanchan bought a clock with 25% discount on marked price. She
sold it with 75% gain on the price she bought. What was her
profit percentage on the marked price?

hel J FTehd Hod UX 25% <hl B¢ U TSl WG| 38 THIET T3 hidd U 75% 19 o |1
SH oI 44T | 3iTehd Hed U IHEhT TH TToTd ST AT?

1.25% 2.31.25% 3. 50% 4.60%
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A sells a scooter priced Rs. 36,000 . He gives a discount of 8% on the first
Rs 20000 and 5% on the next Rs. 10000. How much discount can he

afforded on the remaining Rs. 6000, if he is to get as much as when 7%
discount is allowed on the total ?
Ueh ATSHT Ueh Fehed derdl & , THeRT 5ol &. 36000 7, 318 Tget 20,000 U 8% hT BT AAT 77T 10,000

T 5% °hT P 5T E | 3H ITW 6000 T TR TavTd sht B 31 ATET dqTich 3H shed U 7% h1 B 34 W
UTH BT 8 2
1.5 2.6 I 4.8




Ramesh sold one fourth of his article at 20% discount, one third of hls
articles at 15% discount and rest at 30% discount. Find the discount

percent he has given on whole lot?
THIT 9 37U 3cUTS Rl Ueh STAT3 T2FAT 20% T U, Ueh TdaTg [EHAT 15% B W AR I

30% e U o= TEAT| 38 O 3e4TE UR Toha TTaotd hi e & 82
1.22.5 2.20 3.17.5 4. NOT




The marked price of a shirt and trousers are in the ratio 1.: 2. The
shopkeeper gives 40% discount on the shirt. If the total discount on the

shirt and trousers is 30%, the discount offered on the trousers is :
Uk ITC AR UdeTd o SATehd Hod 1: 2 % 37791 H 21 FRTEN I1C W 40% R T 347 7| A3 91¢ AT

TTAT T A e 30% &, a1 el W 3 T AT B 2

1.20% 2.22.5%
3. 25% 4. 27.5%







